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Exercise 1. Let A be an integrally closed integral domain and S ⊂ A be a
multiplicatively closed subset. Show that S−1A is also integrally closed.

Exercise 2. Let A be an integral domain with field of fractions K, L/K a finite
extension and S ⊂ A be a multiplicatively closed subset. Show that

S−1AL = S−1(AL).

Exercise 3. Let d ∈ Z be squarefree and K = Q(α), where α2 = d.

(1) Describe the kernel and image of TrOK
Z : OK → Z.

(2) If d < 0 show that NOK
Z : O×K → {±1} is trivial. Show that NOK

Z is onto
if d = 2, and trivial if d = 3.

Exercise 4. Let K as in Exercise 3. Compute the discriminant dK ∈ Z.
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